ME201 - Statics

Chapter 7&8 — Recitation 06
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Draw the shear force and bending moment diagrams for the
beam AB.
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Draw the shear force and bending moment diagrams for the
beam AE.
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Example 3

Wo Draw the shear force and bending moment

diagrams for the beam AB.
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One can solve the problem considering the left portion of the beam as well.
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Two 8° wedges of negligible weight are
used to move and position the 800 kg
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One can solve the same problem by considering the FBD of 800 kg block &
the wedge and writing X F, = 0& X F, = 0.

Example 5
B Weightless . . .
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of us, [ and a? ug is the same for both
surfaces.
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Example 6

Block A weights 50 N and block B weights 25 N. Knowing that the
coefficient of static friction is 0.15 between all surfaces of contact,
determine the value of 8 for which the motion is impending.




A direction of impending motion should be selected.
50N x'

FBD of block A

*+) TF, =0 N, —50cos0=0 | N, =50cos6 (1) |

(+) ¥F,y=0 T+F —50sin6=0

| T=—F +50sin6 ()]

F; = usN; = 0.15(50cos9) = 7.5 cos 8

Substitute into (2)
| 7=50sin6-75c0s8  (3) ]

FBD of block B
() XF,y/=0 N,—N;—25c0s8=0 (%) YFy=0
Substitute N; from (1) T—F, —F,—25sin0 =0

F, = 0.15(75cosf8) = 11.25cos 8

[N, =75c0s6 (4]

| T =25sin6 +1875c0s0  (5) |

By equating (3) and (5)

50sinf — 7.5cosf = 25sin + 18.75cos 8

‘ 9_26.25
anf = —




If the opposite direction is chosen.
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0 ~ —46.4°| Does not make sense!






